


HhON=

o O

. 50% Tighten before fixing all screws, Allen wrench is recommended instead of an electric drill.

. Place the item on a flat ground to adjust and make sure it remains stable.

. Tighten up all screw with tools gradually.

. If screw are not aligned with holes during assembly, please loosen all the other screws to 50% and continue

the assembly process.

. If the item is not stable, please loosen all screws, adjust it on a flat ground and tighten up all screws again.
. Note: If one or some screws are fully tighten during assembly, chances are the others will not be aligned

with holes. In addition, all the holes are designed to be relatively larger to provide more space for the
adjustment of the screws.



Part List :

@Xl

—

Big Table

Xl

Top

e,

Big Table Leg

@X3

Side Big Table

BASS

Small Table Top

x1

-

Small Table Leg

®X3
I

Side Small Table

@Xl

Seat Right Bench

@Xl

K)x12

J

@XZ

Conner Back Side Leg Sofa Middle Leg Sofa Seat Chair Cushion
M2 @xS@ Pl @Xﬁ
Seat Bench Cushion Back Cushion Small Cushion Connector

Hardware Lis

t:

(1)x80
O)g

Bolt M6 x 15mm

(2)x24
g

Bolt M6 x 40mm

@x104 @x24

Q

Flat Washer M6 x 1mm

Vent Washer M6 x 2mm

(5)x24
S

Cover M6

&

©

7

Allen Key




STEP 1: Connect The Big Table Top (A) & Side Big Table
(C), tighten Bolt (1), Flat Washer (3) with Allen Key (6).

STEP 2: Connect The Part from Step 1 & Big Table Leg (B),
tighten Bolt (1), Flat Washer (3) with Allen Key (6).

—~ -

Vi N
// \
|
f 100%
N ///

o o

STEP 3: Put the Big Table upright and make sure all legs
are level, then firmly tighten Bolts with Allen Key (6) to
finish Big Table

STEP 4: Connect The Small Table Top (D) & Side Small
Table (F), tighten Bolt (1), Flat Washer (3) with Allen Key (6).




n
(@))
<@
©
® —
5 < |
(7] - //
[ORN) |
ﬂka K \ ///
[ | |
m @ / /
d s \
c < /, /
(4y] ..le. ‘, |
- T
e W \‘ /
(@) \ \ /
2 ) /
W w _.&.w...&‘..:ﬁ:qq 3 \\, \ ,”
5 . |
MW mW .’s?&spaaw&m»r.w. V \
T = NN |
= 00 \
- O ‘vab | \
nla + ) .."“ A \
g > .“.../ |
A
w m //....”...», \,
- F x.x«.ﬂ.w..ﬁ.?éﬂ./.‘w\
il G ——
S5 C T
3 iy
_-X © o) . “..o...”.\o\
/ [ RN > / AN Qooo.:\
/ o ) A o / <\ ::\
| ~ \, E - ! £ \, ...ov
\ ; e | \
N ./ = & . ’
Al i 2 K

) A
\ I!.\\“h.“..
'

XK
0
‘“’“MQ”@“”N»‘%M‘»- Wi . I

o)
X
\ ..” O
\) %o W

i
L VAN o\
%‘..‘”..%‘

N
it

(X
_.%\

STEP 5: Connect The Part from Step 4 &Small Table Leg (E),

tighten Bolt (1), Flat Washer (3) with Allen Key (6).

STEP 8: Connect The Part from STEP 7 & Back (J), tighten

(L), tighten Bolt (1), Flat Washer (3) with Allen |Bolt (2), Flat Washer (3), Vent Washer (4) with Allen Key (6).

STEP 7: Connect The Part Right Seat Bench (G) & Side Leg Sofa

(K), Middle Leg Sofa

Key (6).



\)
)

o.

)

& Side Leg Sofa (K),

\../ .~ \
WA Q) \
»o% ANY %»««»& \'s o...&o NI
) R X
&.:”.w...“.‘.ﬁw W [RRNN \ﬁﬁ.us.&.,&.%t»..% , N
/ \ 0 /]
/ \' ) J
AN \'w\ / s,. /
\ A ) \
\ / \\ { Y 0 /4 ,,
/ / \\ o N ‘,
l A N |
Nl N
\?2 4..@.,....4....0...,\ _- <
NSRRI N
".“.w ".N.".n.....@........vw\ . \ \

Connect The Part Left Seat Bench (H)

STEP 10

6) and Put to Cover (5)|Middle Leg Sofa (H), tighten Bolt (1), Flat Washer (3) with Allen Key (6).

_ o
v | -
\T/// ®
/¢\\~// % A \
7 // (V) '.,s,
/ v = 0N
. — &.‘s
: \ ' [®© (RN
N ‘/ | X .:oé
O e \ [N ] ) %%0.%%0,
O\ \ = }f.....s/
‘?} . , =] .ososo‘;s,
Wy AN e » | \ PR
(X2 N \ NAY) :.éz NA
A TN |2 A z.“.‘.”.w.g.".“..ﬂ...“...,.\
\ g Y e
...... ....s‘/ . E2 ,, Y \.s.. ...... ...&v ¥
.o».»o WA Lo / o X \ J .0\ AN 0‘ AN
) AWAX Lo O A0 AN
e 1 4 1~ <2 - / N YA
VR c o YNGR
GO LS B | IO
) B3 i~
WO / /, nﬂu. ...m / ) i....w. ..,..9 g
~ s = \ ; e N
) 5 3 \ NS
R J \ ,,,\s..e..é..‘.f..fo\  /
’ = R (1
e Q N '«\\ w— el N
/O M & ,.&. N »  /
Y- il
,, ‘<0<.<4€.o<<4c. :ﬂ ) oy = V4 h (N
AT ,ﬂ P e S L/ RN
) AR N
..“....“..,“owﬁ.”ow.”.".s.\? — "/ D S 9 ,.x...
L i
) /o > LYK
R S22 =
V) o:\ / - m \\
%% / = £
' / Y
o ,»\.:v\ - \\ 0 anu .
, // \V /\\ " , //
/ S /r\\\ M = ( g
| I _ | ©
N / E n_Vu \ J
7 S b Nl

hten Bolts with Allen Key (6) and Put to Cover

g

Put the Left Bench upright and make sure all legs are

level, then firmly t

(5).

STEP 12

tighten Bolt

Flat Washer (3), Vent Washer (4) with Allen Key (6).

Connect The Part from STEP 10 & Back (J),

STEP 11

(2)




NN
DN

—
2 ey >>
SSeOSS AL
;\:.y

= =
=

y

=
=

>

>
D

STEP 13: Connect The Part Corner (I) & Side Leg Sofa (K),

tighten Bolt (1), Flat Washer (3) with Allen Key (6).

\

STEP 14: Connect The Part STEP 13 & Back (J), tighten Bolt
(2), Flat Washer (3), Vent Washer (4) with Allen Key (6).

STEP 15: Put the Corner upright and make sure all legs are level,

then firmly tighten Bolts with Allen Key (6) and Put to Cover (5).

Page: 5/6



2
NS
=

oS
s

2>
=
=
2

S

=

XL

23
25
=

%

=

22>

L
%5
S

>
>

Y

5%
R
S

2
525

=
L
22

5

%
2%

2>
S

%

Connect Conner with Left Bench and Right Bench by Connector (Q).

STEP 16

| Page: 6/6

Put on Seat Bench Cushion (N) & Back Cushion (O),

Small Cushion (P).

STEP 17




	1
	Sheets and Views
	Model


	2
	Sheets and Views
	Model


	3
	Sheets and Views
	Model


	4
	Sheets and Views
	Model


	5
	Sheets and Views
	Model


	6
	Sheets and Views
	Model


	7
	Sheets and Views
	Model


	8
	Sheets and Views
	Model





